
Chapter 4 Practice test 

1a)  𝑥 = 5 1b)  𝑥 < 5 1c)  𝑥 = 1 1d)  𝑥 > −1 

2a)  13 𝑢𝑛𝑖𝑡𝑠 2b)  3 𝑢𝑛𝑖𝑡𝑠 2c)   𝑠𝑢𝑝𝑝𝑙𝑦 𝑒𝑥𝑐𝑒𝑒𝑑𝑠 𝑑𝑒𝑚𝑎𝑛𝑑 

2d)  $2  2e)  7 𝑢𝑛𝑖𝑡𝑠 2f)  7 𝑢𝑛𝑖𝑡𝑠 

3a)  $650 3b)  $400 3c)  𝑙𝑜𝑠𝑠 3d)  $250 𝑙𝑜𝑠𝑠    𝑜𝑟  $ − 250 𝑝𝑟𝑜𝑓𝑖𝑡 

3e)  100 𝑢𝑛𝑖𝑡𝑠 3f)  $800 3g)  $800 3f)  $0 𝑝𝑟𝑜𝑓𝑖𝑡 

4a)  𝑦 = −6.2𝑥 + 28.6  4b)  𝑟 = 0.99 4c)  𝑣𝑒𝑟𝑦 𝑠𝑡𝑟𝑜𝑛𝑔 4d)  𝑦 =  −33.4 

5a)  𝑦 =  −0.01𝑥 + 50.67 5b)  𝑟 = −0.98 5c)  very strong  5d)  𝑎𝑏𝑜𝑢𝑡 21 𝑚𝑝𝑔 

6a)  𝑓(𝑥 − 1) + 2 = (𝑥 − 1)2 + 2   𝑠ℎ𝑖𝑓𝑡𝑠 𝑟𝑖𝑔ℎ𝑡 1 𝑢𝑝 2 

6b) 

x -1 0 1 2 3 

f(x-1) + 2 6 3 2 3 6 

 

 

6c)  𝑑𝑜𝑚𝑎𝑖𝑛  (−∞, ∞)    𝑟𝑎𝑛𝑔𝑒  [2, ∞)  6d)  𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔  (1, ∞)   𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔  (−∞, 1) 

6e)  𝑙𝑜𝑐𝑎𝑙 𝑚𝑖𝑛𝑖𝑚𝑢𝑚 𝑝𝑜𝑖𝑛𝑡 (1,2)  𝑙𝑜𝑐𝑎𝑙 𝑚𝑖𝑛𝑖𝑚𝑢𝑚 𝑣𝑎𝑙𝑢𝑒 𝑦 = 2 𝑤ℎ𝑖𝑐ℎ 𝑜𝑐𝑐𝑢𝑟𝑠 𝑤ℎ𝑒𝑛 𝑥 = 1 

6f)  ℎ𝑎𝑠 𝑛𝑒𝑖𝑡ℎ𝑒𝑟 

7a)  𝑓(𝑥) = 2(𝑥 + 2)2 − 3  7b)  𝑠𝑡𝑟𝑒𝑡𝑐ℎ𝑒𝑑, 𝑙𝑒𝑓𝑡 2, 𝑑𝑜𝑤𝑛 3 

8𝑎)  10 𝑠𝑒𝑐𝑜𝑛𝑑𝑠  8b)  5 𝑠𝑒𝑐𝑜𝑛𝑑𝑠  8c)  400 𝑓𝑒𝑒𝑡 

9a)  5 𝑐𝑙𝑒𝑟𝑘𝑠  9b)  $625 


